


AS LE T2AQ

Kol
-

HR2 7] 42

o =
= O

=

@ ©: 2A=

B
BH

B
BH

Bl
BH



N

7N



™
Jl

ol
XS
.

wo] mAjele] Zolo ol7} ot

BH




@ 11

NS



o 2] HieAle shAlL.

6.

1
= 16
5 ®

@ 15

1 1
- 14— 15
2 @ 2 ©

O 13



& <WI>eh ol A [ ]
2 Mo,




o) tieAlS s,

@2g
5

@ 1



> EE
S EE



T2 2 HoxQ,
10. the [ Joro] oo wolut 42 Az A

34w [ ][]




= UEhfAl L.



550] )

5

AH =]
=

5

HA Ao o

UERH AL L)

12. 19




E&] g2 5 AR oA,

op

on

olJ
o)
)
pa
fife)

o

H

o

[l

olJ
30
Np

3:5 94 7]




14. o= F 49| go] BE A2 o= AdY7R?

D1:2 @ 4:8 ® 5:12 @ 5:10 ® 6:12



15.

5 9] 12 of tiet ¥l o] ghe w2 L

12
05

@ 17



24 0.871= WEEE vt=A Yehd A2 ol AAY 7

D 8.71% @ 0.871% ® 0.0871%
@ 87.1% ® 8.701 %



55 %







A A2ALQ.

1

o

%

o BOFe AAE o E B

,,._mo
-

@ A&



!

Hr
|
<

o
B

o Srrt gt

=



+ ?

(RISEL
7

™

I:7<

AN

o]

N



22. ©h&L od YAEF] AAZYU7?



o

d A

o}

]

29l Wo

oF &

o}

A5 A=Y}

S o

=
I2AQ.

23. o

ot




24.

o
o

5
—k
9g



ot
=

ojn

3
957
8

1
4

® 8

7
8
5
8

3
Z6
4
148
4

@ 8
® 8

7
8
3
8

3
7
;

— 5,
4

@ 8
@ 8



=)
g

Utk o] gelgke] 4z

~-gM~_
8

)
‘ﬂol.EmQ




27. Hl

o

of &2 & A HE AP oA L,

NPT NP




28. Z7|EHuste] [ [gFl >, = <2 g%

4.68+0.36 [ ]3.36+0.24







2o WAoo 1A AMtsts YT
of erure 42 Aehe AP oA,

2.392+0.26:g;§=[]+26:[]

100 ~ 100




31. e F5.78+ 1.7 I Fo] & AL oL AJY7L?

D 0578 + 17 @ 57817 ® 578+ 17

@ 578 =17 ® 5780+ 17









